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10. A computer costs £360 plus 175 % VAT.
£360

Calculate the total cost of the computer.
plus

1
173% VAT

(Total 3 marks)
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14. The equation
X+ 20=60
has a solution between 3 and 4
Use a trial and improvement method to find this solution.

Give your answer correct to 1 decimal place.
You must show all your working.

(Total 4 marks)
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12.

Diagram NOT
20 ey | Sccumsely dravn

4x+s
In the diagram, all measurements are in centimetres.
‘The lengths of the sides of the triangle are

249

23
x5

() Find an expression, in terms of x, for the perimeter of the triangle.
Give your expression in its simplest form.

‘The perimeter of the triangle is 39 cm.

(b) Find the value of x.

(Total 4 marks)
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15. (a) Simplify s xmt

(b) Simplify pep
(©) Simplify 4y x 302
(Total 4 marks)
16.
c
Diagram NOT
accurately drawn
12em

4 14cm s

ABCis a right-angled triangle.
4B = l4cm.
BC=12em.

Calculate the length of AC.
Give your answer correct to 3 significant figures.

(Total 3 marks)
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19. (a) Expand and simplify @-3)x+9)

(b) Solve

(Total 5 marks)
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21. Ina sale, normal prices are reduced by 12%.
The sale price of a digital camera is £132.88

‘Work out the normal price of the digital camera.

(Total 3 marks)
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3. (@) p=2
g=-4

Work out the value of 3p -+ 5¢

(b) Factorise 3m—6
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6.

(B
)

(i) Write down the size of the angle marked a.

(i) Give a reason for your answer.

Diagram NOT
accurately drawn

(Total 2 marks)
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Acircle has a radius of Sem.

Diagram NOT
accurately drawn

‘Work out the area of the circle.
Give your answer correct to 3 significant figures.
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8.

Soap powder is sold in two sizes of box.

Soap Powder
Soap Powder
kg
2%k
72 £765
Small box Large box.

A small box contains 2 kg of soap powder and costs £1.72
Alarge box contains 9 kg of soap powder and costs £7.65

‘Which size of box gives the better value for money?

‘Explain your answer.
You must show all your working.

(Total 3 marks)
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13. A piece of wood is 180 cm long.
Tom cuts it into three pieces in the ratio 2 :

‘Work out the length of the longest piece.

m

(Total 3 marks)





